Revman Plots: Holding child up to 3 yrs

Distress Acute

Holding Supine 5td. Mean Difference Std. Mean Difference
Study or Subgroup  Mean S0 Total Mean SD Total Weight I, Random, 95% CI I, Random, 95% CI
Hallstrom 1868 725 1642 15 864 17.32 16 31.7% -0.80[-1.54,-0.07) —
Ipp 2004 4487 263 i3] 38 307 a0 34.6% 023014, 062
Taavoni 2010 68 1.2 3| 837 082 3| 336% -162 214, -1.10] —
Total {95% Cl) 109 104 100.0% -0.72 [-1.95, 0.51]

Heterogeneity: Tau®=1.10; Chi®= 32.40, df= 2 (P = 0.00001}; F= 94%

Test for overall effect: Z=1.14 (P=0.2%)

(Without data from study by Ipp 2004)
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Holding Supine Std. Mean Difference Std. Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Hallstrom 1968 715 1642 15 864 17.32 16 447% -0.80[-1.54,-0.07] ——
Ipp 2004 4487 263 a6 349 307 a0 0.0% 0.23[-0.148, 0.62]
Taavoni 2010 gE8 1.2 38 8.3r 0.82 I} 55.3% -1.62 [2.14,-1.10] ——
Total (95% CI) 53 54 100.0% 1.25[-2.05, -0.46] B
Heterogeneity, Tau*=0.23; ChiF= 2315, di=1{FP=008), F= 628% t f

Test for overall effect £=3.03 (P=0.002)

(without data from study by Ipp 2004 and Hallstrom 1968)
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Holding Supine Std. Mean Difference 5td. Mean Difference
Study or Subgroup  Mean 5D Total Mean S0 Total Weight IV, Random, 95% CI I, Random, 95% Cl
Hallstrom 1968 725 1642 16 864 1732 16 0.0% -0.80 [-1.54,-0.07]
Ipp 2004 4487 263 a6 389 307 a0 0.0% 0.23 [-0.14, 0.62]
Taavani 2010 6.68 1.21 s 83r 082 38 100.0% -1.62 F2.14,-1.10] —.—
Total (95% CI) 38 38 100.0% -1.62 [-2.14, -1.10] -
Heterogeneity: Mot applicable 52 51 3 15 é
Testfor overall effect, £=6.08 (F = 0.00001} Favours Holding Favours Supine

Distress Acute + Recovery

Holding Supine 5td. Mean Difference 5td. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% Cl IV, Random, 95% Cl
Ipp 2004 2,39 1.67 a6 211 1.83 a0 100.0% 016 [0.22,0.54]
Total (95% CI) 56 50 100.0% 0.16 [-0.22, 0.54]

Heterageneity: Hot applicable
Test for overall effect; Z=0.82 (P = 0.41)
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